SUD

50203060

Orléans
66x157x66¢Ccm
Tuinbank eucalyptushout FSC

MONTAGE INSTRUCTIE
ASSEMBLY INSTRUCTIONS
INSTRUCTION DE MONTAGE

MONTAGE-ANWEISUNG

Garden bench eucalyptus wood FSC

Banc de jardin bois d'eucalyptus FSC
Gartenbank Eukalyptusholz FSC

Max weight 110kg

100%

Wood from well-
managed forests

wwiscos  FSC® C018526

Le Sud B.V.

P.O. Box 43

4940 AA Raamsdonksveer
The Netherlands

1/5

Deze instructie aandachtig lezen en bewaren.
Read this instruction carefully and keep it for the future.
Conservez et lisez cette instruction attentivement.

A 280 . 326
x8 \.,0 X8 \@
Distance space 6.5x25x4.5 mm F-Bolt 6x65 mm
HW-MM-10-060 HW-ST-02-278
013 019
x4 x4 w
Plain washer 8.5x18x1 mm Hex-Bolt 8x60 mm
HW-ST-07-044 HW-ST-02-109
020 017
x4 @ x 16 ()
Spring Washers 8.5x12.5x1.5 mm F-Bolt 6x50 mm
HW-ST-07-062 HW-ST-02-032
021 149
x1 = X 8 .((@
Spanner 13x88mm Sleeve Nut 6x20 mm
HW-ST-18-007 HW-ST-03-019
004 327
X2 X4 %
Allen key 4x98 mm Cross Nut @10x40 mm
HW-ST-18-001 HW-ST-03-129
044 279
=
x4 é x4
Foot @23x30 Pat I 50x30x3 mm

HW-MM-06-140

HW-ST-04-492

Bewahren Sie diese Instruktion auf und lesen Sie diese sorgfaltig.




@

(020)x 4

TR

% 4
/’ﬂ’!/f/w
(1 ((ﬁ"{{’/f/q/,,,
\NM{(lttrrr7 p
4 ur“(w‘q"m‘«/[r, )

2/5










HW-ST-18-001

(4x98)

HW-MM-10-060

6.5x25%4.5)

(

HW-ST-04-492

(50x30x3)

HW-ST-03-019

(6x20)

HW-ST-02-032

(6x50)

5/5




